FAEDKR

BB R O NFEER - AR - AR NP ER RO

TR —X H27 H28 H29 H30 [H31I RD| R2 eSS
NFEH 60 60 60 60 60 60
ANFHE 42 43 47 29 29 23
St | AFEBEFLEREE (%) 70 72 78 48 48 38
a—2  (INEEE 120 120 120 120 120 120
EREEK 36 84 90 72 57 52
INEES T EE (%) 72 70 75 60 48 43
H NFEH 40 40 40 40 40 40
Eﬁ LU - 7\?3%?%? _ 15 26 28 15 31 22
Al g ANFEEE TR (%) 38 65 70 38 78 55
§§ S Wl%?é;ii 30 80 30 80 80 30
=2 TS 40 42 55 44 45 52
B WA TEBFIEE (%) 50 53 69 55 56 65
J\%éggié 40 40 40 H3054E
ANFEK 15 8 20 =k
niEEat AFEETEE (%) 38 20 50
a—2 ¢12§§§§i 30 80 80 40
TREEE 25 23 27 18
INEES T EE (%) 31 29 34 45
AFER 100 100 100 100 100 100
ANFEE 107 108 103 120 109 94
G s ANFEBREE (%) 107 108 103 120 109 94
IREF NRER 200 200 200 200 200 200
A 220 216 212 223 224 198
INEES T EE (%) 110 108 106 112 112 99
ANFER 240 240 240 200 200 200
NFHE 179 185 198 164 169 139
e ANFEBREFE (%) 75 77 83 82 85 70
NRER 480 480 480 440 400 400
EFEE K 371 365 384 357 326 302
IWEES T EE (%) 77 76 80 81 82 76
o NS 22 16 21 19 11 9
B R ONEAMIRIE AR 2K 0 0 0 0 0 0
R Ze 36k 196 184 172 184 190 154

SHIOFEIE A & 0 AEIE AR b m— A, BV R - RS — A, Sl — 2

LA,

SCH30AEE A4 K 0 Jrifitgfib b o — R 3 EEE IR & Lz, H3UREDIRRILEARL

B REEK

(bR A BTN

H27

H28

H29

H30

H31 (R1)

P e
a—2

BT

0

BS

— o

i EURR - [E
| = —=

IR

4

PR 25K

=T

=
v a—A

IR

DO

BREEE 5K

)
f /NG

IR

HaRR (%)

—_
[98)

BREEH L

BT

PIEE (%)

(=) (=] =2 Y (=)

BREEE 5K

IR

10

10

FIEE (%)

[$21 k=2)

2.8

2.7

BREEH L

Nl =] [N [CES




